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Solution for exercise 2.5.1 in Pitman 1

Question a) We use the hypergeometric distribution page 125 since we are dealing
with sampling without replacement
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Sampling Without Replacement:
Consider a population of size N of which G items
are good and B are bad, where N = G + B.
Sampling from the population without replacing
the items in the pool leads to

P (g good and b bad items) =
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where n is the total number of sampled items of
which g are good and b are bad.

Question b) We apply the binomial distribution (sampling with replacement
page 125)

P (Exactly 4 red tickets)=

(
10
4

)(
20

50

)4(
30

50

)6

=210
2436

510

Sampling With Replacement:
Consider a population of size N of which G items
are good and B are bad, where N = G + B.
Sampling from the population and replacing the
items in the pool leads to

P (g good and b bad items) =
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where n is the total number of sampled items of
which g are good and b are bad.
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